Lecture 15, 1612. Let M = a for \mathbb{Z} -module with basis $b_{n,r}, b_n$. Let $X = \sum_{i=1}^{n} q_i b_i$. Let $i \in \{1, \dots, n\}$. If $q cd(a_{i, \dots, n}) = 1$, the $b_{n,r}, b_{i-1}, X$ can be supplemented to a basis of M. Proof: Let $q = q cd(a_{i, \dots, n}) = 1$. By Lemma 6.20 there is $T \in GL_{n-i+1}(\mathbb{Z})$ such that $(a_{i, \dots, n}) T = (1, 0) \dots 0$. Let $T := \left(\frac{T_{i-1} \begin{vmatrix} a_{i, 0} \\ \vdots & \vdots \\ a_{i-1} 0 \end{vmatrix} \in GL_n(\mathbb{Z})$ Then $(b_{n, \dots, n}, b_n) \cdot T = (b_{n, \dots, n}, b_{i, n}, x, b_{n-1, k})$ This is a basis and

Now, we can come back to:

$$\frac{Proof of Lemma 6.22}{\text{Let } 5_{AS'-1}5_{D} \text{ be a basis of } A. \text{Let } O \neq X = \sum X_{i} 5_{i} \in A \text{ be a shorkest vector,}}$$

$$\text{Let } 5_{AS'-1}5_{D} \text{ be a basis of } A. \text{Let } O \neq X = \sum X_{i} 5_{i} \in A \text{ be a shorkest vector,}}$$

$$\text{Let } 5_{AS'-1}5_{D} \text{ be a basis of } A. \text{Let } O \neq X = \sum X_{i} 5_{i} \in A \text{ be a shorkest vector,}}$$

$$\text{Let } 5_{A}(A). \text{ Let } g := gcd(X_{AS'-1}, X_{D}). \text{ If } g > 1, \text{ then } 1 \times G A. \text{ But this is }}$$

$$\text{shorks } f_{Han} X, so Y. \text{ We must therefor have } g = 1. \text{ Now, it follows from }}$$

$$\text{Lemma } 6.24 \text{ that } X \text{ can be supplemented to a basis.}$$

$$\text{This just maker one basis vector short, howeves (even though as short as possible).}$$

$$One \text{ starting point to make more vectors short is Gram-Schmidt orthogonalization}$$

 \Box

 $\widetilde{T} \in GL_n(\mathbb{Z}).$

Let have he be a desire of A. Probern Gram-Schwidt

$$b_{i}^{*} := b_{i}$$

$$b_{i}^{*} := b_{i} - \sum_{j \in i} P_{i,j} b_{j}^{*} \quad \text{with } P_{i,j} := \frac{\langle b_{i}, b_{j}^{*} \rangle}{\||b_{j}^{*}\||} \quad \underline{Goo coefficients}$$
Then $b_{i}^{*} := b_{i}$
Then $b_{i}^{*} := b_{i}^{*}$ is an orthogonal basis of R?
Lemma 625

$$\|b_{i}^{*}\| \in \|bi\| \quad \forall i \text{ and } d(\Lambda) \in \frac{\pi}{\||b_{i}^{*}\||} \quad (\text{Hedemand inequality}),$$
by the equality iff the b_{i}^{*} are pairwise orthogonal.
Proof. By Gram-Schmidt, there is $Q \in Gol_{n}(Q)$, elet $Q = 1$, with $b_{i}^{*} = b_{i}^{*}Q$ for P_{i}^{*}
We have $b_{i}^{*} = b_{i}^{*}Q$ for P_{i}^{*}
We have $b_{i}^{*} = b_{i}^{*}Q$ for P_{i}^{*}
We have $b_{i}^{*} = b_{i}^{*}Q$ for P_{i}^{*}
Note there $b_{i}^{*} = b_{i}^{*}Q$ for P_{i}^{*}
Moreovery $d(\Lambda)^{2} = det((5; b_{j}^{*})_{i,j}) = (detQ)^{2} det((5; b_{j}^{*})_{j}) = \overline{\prod_{i=1}^{n} \|b_{i}^{*}\|^{2}}$ for P_{i}^{*} and P_{i}^{*} a

Such a replacement modifies the GWD coefficients and dorkers bi.
The Pij for
$$j \ge l$$
 are not modified because by is orthogonal to be
for left. Pije is replaced by Pije round (Pije), to the new GWD coefficients Saferfy
[Hij] $\leq \frac{1}{2} + l - l \leq 1 \leq 1$.
By repeating this process one alterer a basis birth of A such that
[Nij] $\leq \frac{1}{2} + j < i$. Such a basis is called size reduced (and the process
is called size reduction).
Lenstra lenstre, and loves (LLL) observed in 1982 that construct with a
swapping of basis wedges one can efficiently compark a basis of the following type
 $\frac{Def}{27}$
A basis basis basis at a latter A is $S - \frac{UL}{E-reduced}$ for a real periods
 $1/4 + S \leq 1$ if
a) the basis is size reduced (in [Pij] $\leq 1/2$ $\leq 1/2$)
 $S = reduce the basis
1. Size reduce the basis
 $1. Size reduce the basis
 $2. (4 + line 1) = \frac{1}{16} + \frac{1$$$

SD, by repeated application:

$$\| b_{n}^{*} \|^{2} \leq \propto^{i-1} \| b_{i}^{*} \|^{2} \leq \propto^{n-1} \| b_{n}^{*} \|^{2}$$
Since $b_{n} = b_{n}^{*}$, if follows that
 $\| b_{1} \| \leq \propto^{(n-1)/2} \min \| b_{i}^{*} \|^{2} \leq \propto^{(n-1)/2} \lambda_{n}(\Lambda)$
More generally
Lemma 6.29
If $b_{n,n}, b_{n}$ is LLL reduced then $\| b_{i} \| \leq \propto^{(n-1)/2} \lambda_{i}(\Lambda)$ this
Proof.
See exercises.
Hence, the lengths of the reduces of an LLL reduced basis are not too for
from the successive minima in a precise sense.

7.1 Torsion units

This proves $\alpha \Rightarrow b \Rightarrow c$. Since $j(G_{L}) c/R^{n}$ is a lattice, it follows from Cor 6.17 that there are only finitely many $\alpha \in G_{L}$ with $\langle j(\alpha), j(\alpha) \rangle \leq n$. Assume now, $\alpha \in G_{L}$ with $\langle j(\alpha), j(\alpha) \rangle = n$. Then $n = \langle j(\alpha), j(\alpha) \rangle = \langle j_{\alpha}(\alpha), j_{\alpha}(\alpha) \rangle = \sum_{i=1}^{n} |e_{i}(\alpha)|^{2}$

$$= \sum_{n=1}^{n} \sum_{i=1}^{n} |\sigma_{i}(\alpha)|^{2}$$
In Lemma 6.16 we have proven that
$$|N_{L(0)}(\alpha)| = \left(\frac{1}{n} \langle j(\alpha), j(\alpha) \rangle\right)^{n/2}$$
Hence, our assumption implies $|N_{L(0)}(\alpha)| \leq 1$. On the other hand, α is
non-zero and industed, hence $N_{L(0)}(\alpha)$ is a non-zero indeget.
$$= 1 - \frac{1}{n} \sum_{i=1}^{n} |\sigma_{i}(\alpha)|^{2} = 1 = \frac{1}{n} \sum_{i=1}^{n} |\sigma_{i}(\alpha)|^{2}$$
They is the geometric and the arithmetic mean of $|\sigma_{i}(\alpha)|^{2}$.
They are equal if their parts are equal, hence
$$|\sigma_{i}(\alpha)|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{n}(\alpha)|^{2}$$
Hence, $|\sigma_{i}(\alpha)|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{n}(\alpha)|^{2}$
They are equal if their parts are equal. Hence
$$|\sigma_{i}(\alpha)|^{2} = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{i}(\alpha)|^{2}$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{i}(\alpha)|^{2}$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{i}(\alpha)|^{2}$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{i}(\alpha)|^{2}$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)|^{2} = \dots = |\sigma_{i}(\alpha)|^{2}$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)|^{k} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)|^{k} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1 = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)|^{k} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)^{k}|^{2} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)^{k}|^{2} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = |\sigma_{i}(\alpha)^{k}| = |\sigma_{i}(\alpha)^{k}|^{2} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = |\sigma_{i}(\alpha^{k})|^{2} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2} = 1$$

$$\Rightarrow \langle i_{i}(\alpha^{k})|^{2$$

Exercise 8.4 TU(6) is cyclic. We can applicitly compute TU(6) by finding all elements in the Minkowski Lattrice of 6 whose squared norm is equal to n (see §6.5).